Lesson 1 LO: To subtract mixed numbers breaking the whole

Lesson 1 - Week 8 (Spring 2, Week 2) Key vocabulary:

;
Monday 15" March 2021 . Fraction
e Subtract
LO: To subtract mixed numbers * Total
breaking the whole * Improper fraction
* Mixed number
White Rose Maths video: ’ Wh?le
https://vimeo.com/509809639  Equivalent
Vo y « Convert
h‘r?r;sc,::/e/-y(zt.\ll’rige\;lIvceH%}JWZOxO ’ Numer'flfor'
« Denominator
Play Times Tables Rockstars « Common denominator
every day to practise your tables « Simplify

https://ttrockstars.com/



https://vimeo.com/509809639
https://youtu.be/IvcHopW20x0
https://ttrockstars.com/

Lesson 1 LO: To subtract mixed numbers breaking the whole

Arithmetic - Flashback Four

7 2 |
) Work out 3053
q
2)  Whatis % less than 0 ?
3
3) Change 7 0 to an improper fraction.

Y) What is the value of the 2 in the number 6,3287



Lesson 1

Subtracting mixed
numbers: breaking the
whole

For some mixed number
subtraction, you will need to
'‘break the whole'.

This means that the fraction
you are taking away is
greater than the fraction
part of the mixed number.
Therefore you will have to
exchange with the whole
number to complete these
questions.

There is more than one way
to do this. I will show you
two methods.

LO: To subtract mixed numbers breaking the whole

Bar model method - my turn

Complete the subtractions.

Use the bar models to help you.

e ] ] ] ]

7|14
12

Step 1. Make the denominators equivalent 2% = 2%

Step 2: Shade in the greater number on the bar model
Step 3: Cross out the number you are subtracting
Step 4: Count your result and simplify if necessary



Lesson 1

Subtracting mixed
numbers: breaking the
whole

For some mixed number
subtraction, you will need to
'‘break the whole'.

This means that the fraction
you are taking away is
greater than the fraction
part of the mixed number.
Therefore you will have to
exchange with the whole
number to complete these
questions.

There is more than one way
to do this. I will show you
two methods.

LO: To subtract mixed numbers breaking the whole

Exchanging method - my turn

Strategy:

1. Find a common denominator for both fractions and convert

2. Exchange one whole in the mixed number to a full fraction and
add it to the fraction part

3. Ignore the whole number and subtract the fractions

4. Simplify if necessary

7

1. Common denominator 2% - 1—72 -> both fractions over 12 -> 21—62 - =

6 . . 12

2. 2—-> T will take one whole, and exchange it for —
6 12 18
1—+ = =z1=
12 12 12

18 7 11
3.18. 72 14
12 12

12 The other way to do this is

convert your mixed
number into an improper
fraction, subtract, and
then convert back into a
mixed number. This works
tool

4. Nothing to simplify here.

Did I get the same answer with both methods?



Lesson 1 LO: To subtract mixed numbers breaking the whole

Your turn - try both methods and see which you prefer!

Exchanging Method Bar Model Method

Strategy: Strategy:

1. Find a common denominator for both Step 1: Make the denominators equivalent

fractions and convert Step 2: Shade in the greater number on the bar model
2. Exchange one whole in the mixed Step 3: Cross out the number you are subtracting
number to a full fraction and add it to the Step 4: Count your result and simplify if necessary

fraction part

3. Ignore the whole number and subtract
the fractions

4. Simplify if necessary

e

2

1._
3 12




Lesson 1 LO: To subtract mixed numbers breaking the whole

Your turn - try both methods and see which you prefer!

1
p JLI °37 12
Exchanging Method 3 1 Bar Model Method
Strategy: Strategy:

1. Find a common denominator for both fractions Step 1: Make the denominators equivalent 2% .

1 4 12
and convert 25 =2 =

Step 2: Shade in the greater number on the bar model
1. Exchange one whole in the mixed number to a

full fraction and add it to the fraction part Step 3: Cross out the number you are subtracting
12,12 _4116 Step 4: Count your result and simplify if necessary
3 12 12
1. Ignore the whole number and subtract the 12 =13
fractions 12 4
16_7_12
12 12 12

1. Simplify if necessary
9 3

1—==1-=
12 4




Lesson 1
Exchanging Method Strategy:

1. Find a common denominator for both fractions and

convert

2. Exchange one whole in the mixed number to a full

LO: To subtract mixed numbers breaking the whole

fraction and add it to the fraction part

3. Ignore the whole number and subtract the fractions

4. Simplify if necessary

Task 1: Fluency

1) Complete the subtractions.

Bar Model Method Strategy:

Step 1. Make the denominators equivalent

Step 2: Shade in the greater number on the bar
model

Step 3: Cross out the number you are subtracting
Step 4: Count your result and simplify if necessary

Use whichever method you prefer!

2)

Eva is doing the long jump.

On her 1st attempt, she jumps 3% m.

Her 2nd attempt is % m shorter than her first.

How far does Eva jump on her 2nd attempt?



Lesson 1 LO: To subtract mixed numbers breaking the whole

Use whichever method you prefer!

Task 2: Reasoning and Problem Solving
1)

a) Complete the subtractions.

Here are some ingredients.

2)

Pl

1 1 1 3
3— —_—— = 3— e ? kg
4 8 4 8 10
1_2 1 4 Potatoes Cheese Carrots
178" 278"
a) How much more do the carrots weigh than the cheese?
b) At what point did the answer break the whole? Why? @ b) Jack uses 17 kg of carrots
\ 20 :
¢) Which calculations will break the whole? How many kilograms of carrots does he have left?
31 3 731 ell_2 42 _ L c) Jack uses all the cheese and the same amount of potatoes.
2 10 4 8 1 3 5 15

How much do the leftover potatoes weigh?

3) The difference between a mixed number and a fraction is%
The fraction has a denominator of 16
What could the mixed number and the fraction be?

Give two possible answers.



Lesson 1 LO: To subtract mixed numbers breaking the whole

ANSWERS
Flashback Four Task 1 Answers

Complete the subtractions.

7 2 | 2
| k out == +—=+= —
) Work ou 30+15+3 30 }3l_i_ D1
A ST 6 12
3 q 6 3
2) What is 0 less than 0 ? 0o s
3) Change 7§ to an improper fraction. 73 b) 3- -2~ e) 3213 _
10 10 16 8 9 18
4) What is the value of the 2 in the number 6,328?
twenty
> _ 5 _ 4_13
945367 D 33-%

Eva jumps m on her 2nd attempt.




Lesson 1

LO: To subtract mixed numbers breaking the whole
ANSWERS
Task 2
a) Complete the subtractions. _
L The carrots weigh f kg more than the cheese.
1 1)
32787 3%
3l 2 Jack has ﬁll kg of carrots left. What could the mixed number and the fraction be?
4 8 3 10 Give two possible answers.
31 _3_ cxfl 3 The leftover potatoes weigh | | kg.
4 8 g | ~
31_4_|93 €
4 8 |~4&
I| -Ilf:' and | 2 | T‘— and b
o |
b) At what point did the answer break the whole? Why?
¢) Tick the calculations that will break the whole.
1_9/ 3_1 n_2 2_A
32 7!:? ?4 8 512 3 45:.-' 15
:V', '.V..'".

Once you have finished your work, self-marked and corrected any
mistakes, please send your work to your teacher:

5L Miss Langoo at elangoo@kingsavenue.lambeth.sch.uk

4/5 W Mrs Williams at jduke@kingsavenue.lambeth.sch.uk



mailto:elangoo@kingsavenue.lambeth.sch.uk
mailto:jduke@kingsavenue.lambeth.sch.uk

Lesson 2 LO: To subtract 2 mixed numbers

Lesson 2
Tuesday 2" March 2021

LO: To subtract 2 mixed numbers

White Rose Maths video to support:
https://vimeo.com/510610537

Voice over video:
https://youtu.be/CpbOdPcKivs

Play Times Tables Rockstars
every day to practise your tables
https://ttrockstars.com/

Key vocabulary:

* Fraction

« Subtract

e Total

« Improper fraction
* Mixed number

« Whole
 Equivalent
 Convert

* Numerator

« Denominator

« Common denominator
« Simplify


https://vimeo.com/510610537
https://youtu.be/CpbOdPcKivs
https://ttrockstars.com/

Lesson 2 LO: To subtract 2 mixed numbers

Arithmetic - Flashback Four

3. 9
D Addgtog
7 7
2) Work out 2020
12
3)  Fillin the missing number. 64

4  Whatis 273 X 0 ?



Lesson 2 LO: To subtract 2 mixed numbers

My Turn /gi_ 8 _,1
5 15 15
3—1 =2
3 8
5 15
9 8§ 1
15 15 15
Strategy:

1. Subtract the whole numbers

2. Convert the fractions so they have the same denominator
3. Subtract the fractions

4. Simplify if necessary and add the whole number part back



Lesson 2 LO: To subtract 2 mixed numbers

My Turn 3 E —1 E — Strategy: el
1. Subtract the whole numbers
Bar Model > 15 2. Convert the fractions so they have
9 3 the same denominator
3——1— 3. Subtract the fractions
15 15 4. Simplify if necessary and add the
whole number part back
54 23 31 ,
15 15 15 15

N DN
N D
NEA
NEA
A\




Lesson 2 LO: To subtract 2 mixed numbers

Strategy:
YOLII" Turn 1. Subtract the whole numbers

2. Convert the fractions so they have the same
denominator

3. Subtract the fractions

9 2 4. Simplify if necessary and add the whole number
1) 5— — 3—- = part back
14 7
1 1
2) 2= — 1= =



Lesson 2 LO: To subtract 2 mixed numbers

Task 1 - Fluency

P e Use your preferred method to complete the subtractions.

1

1

o Amir and Alex are working out 35 - EE 4 3 ’ "
a) 4—-2—= ) 16=—-5—=
) 5 10 ) 2 4
First subtract 2 from 3,
1 1
then subtract 7 from >
That leaves ‘I%
b) 32-1l= d) 1n£_5i=
Convert to an improper 8 4 B 12
fraction first, % - %, then
14_9_5_41
4 4 4 4
Whose method do you prefer? What do you notice about your answer to part d)?

Strategy:

1. Subtract the whole numbers

2. Convert the fractions so they have the same denominator
3. Subtract the fractions

4. Simplify if necessary and add the whole number part back



Lesson 2 LO: To subtract 2 mixed numbers

My Turn

From Jack’s house to school is 2 %{ km. your‘ Turn
’ H 5
From Jack’s house to the parkis 1 p km. o Car A travels for 15-% miles.

Car B travels for 21 15—2 miles.

How much closer is the park to Jack’s house?

. How much further does Car B travel than Car A?
School 2,
5 ?

Park 1g —

1 5 Have a think m

2—-——1-=
4 8
Strategy:

1. Convert the fractions so they have the same denominator
2. Convert to improper fractions
3. Subtract the fractions

4. Simplify if necessary and convert back to mixed number



Lesson 2 LO: To subtract 2 mixed numbers

Task 1 - continued

o Amir and Dora are working out 4% - 1%

Complete the subtractions.

You can't use my

method because you can't do
a) 4£-21= c) 5£_2ﬂ=
5 10 7 14
b) 32-13 = d) 21-1L =
8 4 (3 18
How does this help you to work out the subtraction?
Strategy: te the caleu]
. . C tion.
1. Convert the fractions so they have the same denominator 9 Complets the coloulation

2. Convert to improper fractions
3. Subtract the fractions

4. Simplify if necessary and convert back to mixed number

1
4—
5

P
— 1—:
5




Lesson 2 LO: To subtract 2 mixed numbers

Task2-R /PS

Complete the magic square.

o Dexter is subtracting fractions. The total of each column is 51

20
N
. The total of each row is 5—
| 0
i

L I 1
Explain the mistake that Dexter has made. 2 5
7|4z
20 10
Strategy:

1. Convert the fractions so they have the same denominator
2. Convert to improper fractions
3. Subtract the fractions

4. Simplify if necessary and convert back to mixed number




Lesson 2 LO: To subtract 2 mixed numbers

ANSWERS

3.9 3
240 | =
) Add q to 8 8 , |
Car B travels | IIJ miles further than Car A.
7 7 (0] I
2) Work out 20°20 20°" 2
12
3) Fill in the missing number. === 3
6 4
1) What is 273 X 0 ? 0 How does this help you to work out the subtraction?
6.2 _ 4
5 8§ °5
o Use your preferred method to complete the subtractions.
4_-53 _|1L 1 _s1_|[)1L
A 45-295= .3 A 165-57={11%
c¢) Complete the calculation.
al_12_|904
b) 32-11=|12 d) 102-52=|~5 >0 _
8 4 |d7F 6 127 |0




Lesson 2 LO: To subtract 2 mixed numbers

ANSWERS

o Complete the subtractions.

4 5,9 _| 14 2_-5,1 _| 9,
u}-ﬂ-S 2"] o c) 5? 214 9'22
5 3 3 1 i 3
b) 3=-1== d 2—-1-L= L
) 8 4 IE ) 6 18 9

o Dexter is subtracting fractions.

Explain the mistake that Dexter has made.

He bhon pound bthe ditterente bebusearn bthe  tohelen (s-3:2)

and the ditisencs bebuesn bhe Leachomn (i "Qi""é

rokher  bron  dove 53 ~3%-0L3 -33 - |2
NS

8=
M
Ll
(ni2

Once you have finished your work, self-marked and corrected any

mistakes, please send your work to your teacher:

5L Miss Langoo at elangoo@kingsavenue.lambeth.sch.uk

4/5 W Mrs Williams at jduke@kingsavenue.lambeth.sch.uk
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Lesson 3 LO: To multiply a unit fraction by an integer

Lesson 3
Wednesday 374 March 2021

LO: To multiply a unit fraction by an
integer

White Rose Maths video:
https://vimeo.com/514249448

Voice over video:
https://youtu.be/bwvgmkOM6sA

Play Times Tables Rockstars
every day to practise your tables
https://ttrockstars.com/

Key vocabulary:

* Fraction

« Multiply

e Total

« Improper fraction
 Mixed number

« Whole

* Integer
 Equivalent
 Convert

* Numerator

« Denominator
 Common denominator
 Simplify


https://vimeo.com/514249448
https://youtu.be/bwvqmkOM6sA
https://ttrockstars.com/

Lesson 3 LO: To multiply a unit fraction by an integer

Arithmetic - Flashback Four

3 7 |
) Work out §+20+IO
) Add + and —
590
29
3) Werite — as a mixed number-.

6

Y) Add together 724 and 879



Lesson 3 LO: To multiply a unit fraction by an integer

Key Vocabulary - explained

A unit fraction is a fraction with the numerator of 1.

Can you think of any examples?

An integer is a whole number, without any decimal part.

Can you think of any examples?

So, which of these are unit fractions multiplied by an integer?

Ix4a x4 Ix4 1x 6.2
3 3 6 3



Lesson 3 LO: To multiply a unit fraction by an integer

Multiplication as repeated addition

Alex has 4 pieces of wood.
You can think of multiplication in this

way. .
Eg. Each piece of wood is 5 m long.
3x6isthes S . ) 4
3f313+63 f';‘i‘é How long is all of Alex’s wood? > m
It's the same for fractions. Then you I
can just add up the numerators. l l l l

7/ 7/ 7 7

Or - you can multiply the numerator by
the integer! It's the samel

N -
_|_
N -
_|_
N -
_|_
N -
1
N A



Lesson 3 LO: To multiply a unit fraction by an integer

My turn 1 1 1 2
— 4+ - = 2 X - = _
3 3 3 3

Your turn 10




Lesson 3 LO: To multiply a unit fraction by an integer

Task 1 - Fluency Multiply the numerator by the integer. Denominator doesn't change.

o Complate the calculations.
o Match the addition to the equivalent multiplication.

Use the bar models to help you.

1,1 1
u} §+§ 2!;
1 1 1 1
—+ =4+ == Ix—=
5  § * g * 5 %"'%"'1? %x 3
b)
1.1 S
5 5
1 1 1 1 1
5 + - + - + - 4 w 7 =
1.1 .1
2*3*7 2x3
o Complete the multiplications.
1 o A pizza is cut into sixths.
ﬂ] 3 b4 E = 1
c) i 5= Jack eats five of the slices.
Write a multiplication to represent this.
b) 3x-L = 1 <| =
10 d] QW —=
10




Lesson 3 LO: To multiply a unit fraction by an integer

Task 2 Multiply the numerator by the integer. Denominator doesn't change.

o Complete the multiplications.
Use the number lines to help you.

Give each answer as an improper fraction and as a mixed number.

a) o Complete the multiplications.
a) 11 x a1 _ _ o Complete the calculations.
Y TY Y Y Y C
| I | | | | | | | | I 1_2
— T T T T 1 a) *373
0 1 2 b) Mx~=| |=
) Mxg
1
b] o E = 1
bx_—= = ) —=x 11 =
1
C —=1
d Mxt=| |= ) *7
b)
1_ - 1 -13
E}'I13-¢E- = d]?x -1}'
R e B e e e
0 1 2 What do you notice?

Does this pattern continue?

o | w

b | =
Pod | =

W=
L | =

o=

=




Lesson 3 LO: To multiply a unit fraction by an integer

| White
| w a Camplete the multiplicxtions.
'

Multiply unit fractions by an integer

LI
ﬂ}i:‘ii— -é
1 |3
H‘""”ﬁ'E

o Complete the calcubations.

Use the bar models 1o help you. @ g %35= %
ol 77/ 7ZAVzZzaivzzzA | |
l + l + l = g i = i
555 |5 S | e
Y 727775 [ 770 %
ANSWERS %1_ % N % N % i} r.é bg o Match the addition to the equivalent multiplicotion.
I I 3 %"’% - %
) Work ou1‘3§+2q Sq
1.1,1 1
3 .5 I G T*3
2) Add 7 and m o
3 ) , 38 1,1 Ixd
3) Change5 7 to an improper fraction. 52 5*3 "3
4) What number is 600 less than 4,371? 3,77
pied 23




Lesson 3 LO: To multiply a unit fraction by an integer
ANSWERS sl L -

A pizza is cut into sixths, a Complete the multiplications.
Jack eats five of the slices. 1 il |
a) M we—==|""|=| |7
Wiite a multiplication to represent this. o - )
-\'-.._ s I_ = _: h} 11:‘1l= 1] = £
- | = ks q o 1 l.I
o Lono|ul])z Once you have finished your work, self-
g . s marked and corrected any mistakes,
€) comolete the multipiications. please send your work fo your teacher:
1 ] "
Lkse the number lines to help you. @ Nxo=) <= I'.
Give each answer a3 an improper fraction and as a mixed number. 5L Miss Langoo at
a o nxti]] s elangoo@kingsavenue.lambeth.sch.uk
6 |&| | "6

What do you notice? 4/5 W Mrs Williams at
— —t——+— ) ' jduke@kingsavenue.lambeth.sch.uk

Droes thiis pattern continwe?

0 1 2
- a Complete the caloulations.
sxl=| -] |4
- - 1_2 1 _ .3
o df*3=3 o 1o IR
. 4
- LI 131
h} A !3—1 n 3 :-:2_32
1 = _."'--'- Ty _,-". -:r.,- 4 -\.J.- - Ty ..:”I,"'F_ '
ol o - J =)
I s N A SN SR SN O S
I | | 1 | I | 1 | | | — 1 1
” : 2 9| Fxg=! gl | o |x3=33
g = |
bl = = -
5 ) > 1 =13 1 =31
o} = ¥ 0 17!' k) 2" 3 3ﬂ
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Lesson 4 LO: To multiply non-unit fractions by an integer

Lesson 4
Thursday 4t March 2021

LO: To multiply non-unit fractions by
an integer

White Rose Maths video to support:
https://vimeo.com/514249638

Voice over video:
https://youtu.be/GOjtHVWGJy8

Play Times Tables Rockstars
every day to practise your tables
https://ttrockstars.com/

Key vocabulary:

* Fraction

« Multiply

e Total

« Improper fraction
 Mixed number

« Whole

* Integer
 Equivalent
 Convert

* Numerator

« Denominator
 Common denominator
 Simplify


https://vimeo.com/514249638
https://youtu.be/GOjtHVWGJy8
https://ttrockstars.com/

Lesson 4 LO: To multiply non-unit fractions by an integer

Arithmetic - Flashback Four

| 3
)) Work out Y-+ 2—
5 20

. o) |

2) Find the sum of 8 and T

3) Fill in the missi ber — —ﬂ
ill in the missing number 20°5

Y) Round H/Y to the nearest ten.

Key Vocabulary - explained

A non-unit fraction is a fraction with
the numerator that is more than 1

Can you think of any examples?

So, which of these are non-unit
fractions?



Lesson 4 LO: To multiply non-unit fractions by an integer

Yesterday we multiplied unit fractions by integers. For today, the method is
exactly the same: multiply the numerator by the integer. Let's see:

2
Ron drinks 9 | of orange juice each day for 3 days.
|
How much orange juice does Ron drink
during the 3 days altogether? D D
2+2+2=6]| =6 =2 |
9 9 9 9 9 9 3



Lesson 4 LO: To multiply non-unit fractions by an integer

Yesterday we multiplied
unit fractions by
Integers.

For today, the method is
exactly the same:

Multiply the numerator
by the integer.

Your turn

3
— X 3
10




Lesson 4 LO: To multiply non-unit fractions by an integer

o
&

Task 1

Complete the multiplications.

a) 2 x E - d) 5x i = Explain the mistake that Alex has made.

/ 1

2 2
b) 3x-2 = N B

]' X 11 } = »
2 o
2 7 o A cat eats 75 of a bag of biscuits a day.
? m A ) 15 x 2= What fraction of the bag does the cat eat in 4 days?
=
Strategy:

1. Multiply the numerator by the integer
2.Simplify if necessary



Lesson 4 LO: To multiply non-unit fractions by an integer

What happens if the answer is an improper fraction?
Sometimes the multiplication will leave you with an improper fraction.

When this happens, simply complete the multiplication as normal, then convert
your answer into a mixed number! ©

13x 3> - 3°_ ,7
8 3 3

Strategy:

1. Multiply the numerator by the integer
2. Convert the fraction to a mixed number
3. Simplify if necessary



Lesson 4 LO: To multiply non-unit fractions by an integer

Task 2

o Complete the multiplications.

2 o Here are some digit cards.
'ﬂ] Sbx== =
3
1 3 5
b) 4 x 4 _ _ Use the digit cards to complete the multiplication.
c = =
15
= = a = T
E} %H 11 = = 3
d) 4 x % = =
Strategy:
1. Multiply the numerator by the integer
Q) 17x 2 = _ 2. Convert the fraction to a mixed number
11 3. Simplify if necessary




Lesson 4

ANSWERS

LO: To multiply non-unit fractions by an integer

)) Work out I-II + 2 ] 6 /
ork ou - — A
5 20 20 &)
2)  Find th f > d !
in e sum of 7 and
8 "y 8
y Explain the mistake that Alex has made.
3) Fill in the missing number 0°% 16 She Do wadbigiod Solk e ek Sed W
denorvunakor.
4Y)  Round 474 to the nearest ten. 480 : o
nXd =7
Complete the multiplications.
nlzxi- L d) Sr:i- A o Acateotsiofobagofbiscuitsadog
77| 7 mo| 12 :
What fraction of the bag does the cat eat in 4 days?
3 |4 2 7| M
h}3x_”_ T a) 15:-:}'_ T
£
The cat eats | (< | of the bag in 4 days.
2 _ E_ 7 W © White Rose Maths 2019
:}Wr:il_ T f) 15:-:2_ TS




ANSWERS

Complete the multiplications.

Lesson 4 LO: To multiply non-unit fractions by an integer

u]5x%= '_:‘= 33,
h]4x%=.%:’= 3%_
EI%HH:%: 3,'_?
d) 4x 5= lqd%:gq.
e) 1?uf—1= 3]*_]“= 5_|lT

o Here are some digit cards.

1 3 5 7

Use the digit cards to complete the multiplication.

Once you have finished your work, self -marked and
corrected any mistakes, please send your work to your
teacher:

5L Miss Langoo at elangoo@kingsavenue.lambeth.sch.uk

4/5 W Mrs Williams at
jduke@kingsavenue.lambeth.sch.uk
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Lesson 5 LO: To multiply mixed numbers by an integer

Lesson 5
Friday 5t March 2021

LO: To multiply mixed numbers by an
integer

White Rose Maths video to support:
https://vimeo.com/514249890

Voice over video:
https://youtu.be/bFSgocLMZkA

Play Times Tables Rockstars
every day to practise your tables
https://ttrockstars.com/

Key vocabulary:

* Fraction

« Multiply

e Total

« Improper fraction
 Mixed number

« Whole

* Integer
 Equivalent
 Convert

* Numerator

« Denominator
 Common denominator
 Simplify


https://vimeo.com/514249890
https://youtu.be/bFSgocLMZkA
https://ttrockstars.com/

Lesson 5 LO: To multiply mixed numbers by an integer

Arithmetic - Flashback Four

3
1) 2 X —=
11
2) 2 X5=
3
3) 2 X5 — =
11
1 7
4) 5 —X = 35 —




Lesson 5 LO: To multiply mixed numbers by an integer

Just like before, we can partition our mixed number, and then deal
with the parts separately.

3
One bottle of milk contains 21—3 litres.
12
How much milk is in 4 bottles? 8 — litres
3 8
2 — X 4=
13

Strategy:
1. Partition the mixed number

2. Multiply the whole number part by the integer
3. Multiply the fraction by the integer 12
4. Add them back together 1_3



Lesson 5 LO: To multiply mixed numbers by an integer

My turn
2
3 X 5 7
Strategy:
1. Partition the mixed number
2. Multiply the whole number
Your turn part by the integer
3. Multiply the fraction by the
integer

2 X 5§

4. Add them back together

1
3




Task 1

o Complete the calculations.

4x1=

4 x

a) 4 x 14

5

1
5

LI 1T

HEEEE

[T T TT]

CITTT]

[TTTT]

CITTTT]

Lesson 5 LO: To multiply mixed numbers by an integer

Strategy:

1. Partition the mixed number

2. Multiply the whole number part by
the integer

3. Multiply the fraction by the integer
4. Add them back fogether

o Complete the multiplications.

2 _ 3 _
a) 3x8% = d) 4x 6=
2 2
b) 2 x 122 = 22 c12=
) 2x 127 e) 255 %
2 ) 3-Lxg-=
) 5F14= 15 -

What is the same and what is different about your answers?

o One bag of potatoes weighs 1 % kqg.

How much do 5 bags of potatoes weigh?



Lesson 5 LO: To multiply mixed numbers by an integer

Strategy:
1. Partition the mixed number
2. Multiply the whole number part by

5x 3% is Equu.l to

3 x 52

17 the integer
3. Multiply the fraction by the integer
o Complete the calculations. 4. Add them back Toge'rher‘
Do you agree with Ron?
2 10 .
a) 5x2==10+ —= Explain why.
3 3 o Here is a recipe for a birthday cake. 3 _I
Butter is- kg
b) 43 x5=20+ - Sugar 1 =3 kg
7 16
5 E Self-raising flour 2% kg
) 8 x Zﬁ = + = | 6 eggs N
a) How much flour is needed for 3 birthday cakes?
d)7x37= : -
2 8- -
E'] 45 x 8= + = kg
f) 11 x 413_1.'! = ¥ = b) Dora makes 4 birthday cokes.

How much more butter does she use than sugar?



ANSWERS

3
1) 2 X —=
2) 2x5=10

3 6
3) 2X5—=10—

4 5—x|[7]=35=—

Lesson 5 LO: To multiply mixed numbers by an integer

o Complete the calculations.

1

a) 4 = 1—
) 5
dx1= |I_|.
1_14
4:-:;_ 5
b) 4 x 2
5
Ly % 2= 'E’
4 x g |= _,__
Ul_| 9u
gt 51 %5

o Complete the multiplications.

2 _|n,. & 3 _ ¥
@) 3x85=(J0L7% d) 4x6-5=|2U

3@

b) 2x 122 =, e 22 x12=| 0 %

1

1
f) 3ﬁx8= WwE

2
Q 6. x4= 2,k

What is the same and what is different about your answers?

i)

o One bag of potatoes weighs 1% ka. i

How much do 5 bags of potatoes weigh?

kg

Cs
gl 75




ANSWERS

Lesson 5 LO: To multiply mixed numbers by an integer

o Complete the calculations.
2 10 1
a) 5x25=10+ 2= 133
b) 43x5-20+| = [=|22%
7 - T | 3
5 40 |
c]BxEﬁz G +| 5 = Hj:,
d) ?:-:3%: 7 |+ % = ;J;fé
2z b
e) ﬂ-g!ﬂ-: 3d + q = 33%
3 _ 33 |_|1q3
ﬂ 11!410— Lils + li_D, = L_‘TitD

5 XBAE equalm

11 )
3x5ﬁ

a) How much flour is needed for 3 birthday cakes?

0 you agree with Ron? _Lln

tplain why.
5x35 =IS®
3 »5% =I5%

b) Dora makes 4 birthday cakes.

How much more butter does she use than sugar?

Once you have finished your work, self-marked and corrected any
mistakes, please send your work to your teacher:

5L Miss Langoo at elangoo@kingsavenue.lambeth.sch.uk

[l B

kg

kg

4/5 W Mrs Williams at jduke@kingsavenue.lambeth.sch.uk
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